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And/Then/When

{EFEPatternfIPlanfE/a 7Y, EMNEZMObservable’ R SHHIEHRESFHEI—iE

efilEFrxjava-joinsi&El, R2ZzRxJavaBiI—E85 .

<!--more-->

combinelatest

L ObservablesH AT Al — MRS T EMER, FER—MRELESE N Observable & 51RIRITEHE

. FAEETXMRERIERLSIEIE.

// 7740,5,10,15,20%45
Observable<Long> observable1 = Observable
.interval(0, 1000, TimeUnit.MILLISECONDS)
.map(new Funcl1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 5;

}
}).take(5);

// F¥40,10,20,30,40%4%
Observable<Long> observable2 = Observable

.interval(500, 1000, TimeUnit.MILLISECONDS)

.map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 10;

}
}).take(5);

Observable.combinelatest(observable1, observable2,

new Func2<Long, Long, Long>() {
@Override

public Long call(Long aLong, Long aLong?2) {

return aLong + aLong?2;

}

}).subscribe(new Subscriber<Long>() {
@Override
public void onCompleted() {
System.out.printIn("Sequence complete.");
}

@Override
public void onError(Throwable e) {

}

@Override
public void onNext(Long aLong) {
System.out.printin("Next: " + aLong);

System.err.printIn("Error: " + e.getMessage());
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}

1;

try {
Thread.sleep(Integer.MAX VALUE);

} catch (InterruptedException e1) {
el.printStackTrace();

}

SR

Next: 0

Next: 5

Next: 15

Next: 20

Next: 30

Next: 35

Next: 45

Next: 50

Next: 60

Sequence complete.

join (FREXIFIERE)

{HapHzE, REES—PObservable ZSIA9EUREE X AIRTEEOR, X1 Observable&k§t 7 —5%1
. BMEERNObservable & 589E0E

//740,5,10,15,20%4%
Observable<Long> observable1 = Observable.timer(0, 1000, TimeUnit.MILLISECONDS)
.map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 5;
}

D

//7540,10,20,30,40%4%1)
Observable<Long> observable2 = Observable.timer(500, 1000, TimeUnit. MILLISECONDS)
.map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 10;
}

D

observable1.join(observable2, new Func1<Long, Observable<String>>() {

@Override

public Observable<String> call(Long t) {
// TODO Auto-generated method stub
return Observable.just(t.toString());

}
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}, new Funcl1<Long, Observable<Long>>() {
@Override
public Observable<Long> call(Long aLong) {
//fEObservablefEIR600Z=F 41T
return Observable just(aLong).delay(600, TimeUnit.MILLISECONDS);

}, new Func2<Long, Long, String>() {
@Override
public String call(Long alLong, Long aLong?2) {

return aLong +":" +alLong2;
}
}).subscribe(new Subscriber<String> () {
@Override
public void onCompleted() {
System.out.printIn("Sequence complete.");

}

@Override
public void onError(Throwable e) {
System.err.printIn("Error: " + e.getMessage());

}

@Override
public void onNext(String aLong) {
System.out.printIn("Next: " + aLong);
}
1
try {
Thread.sleep(Integer. MAX_VALUE);
} catch (InterruptedException e1) {
el.printStackTrace();

}
HER

Next: 5:0
Next: 10:10
Next: 15:20
Next: 20:30
Next: 25:40
Next: 30:50
Next: 35:60
Next: 40:70
Next: 45:80
Next: 50:90
Next: 55:100
Next: 60:110
Next: 65:120
Next: 70:130
Next: 75:140
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merge
&=/ Observablesgy & 534

// F=40,5,10,15,20%4%)
Observable<Long> observable1 = Observable.timer(0, 1000,
TimeUnit.MILLISECONDS).map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 5;
}
1;

// F¥4£0,10,20,30,40%4%
Observable<Long> observable2 = Observable.timer(500, 10000,
TimeUnit.MILLISECONDS).map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 10;
}
1;

Observable.merge(observable1, observable2).subscribe(
new Subscriber<Long>() {
@Override
public void onNext(Long item) {
System.out.printIn("Next: " + item);

}

@Override
public void onError(Throwable error) {
System.err.printIn("Error: " + error.getMessage());

}

@Override
public void onCompleted() {
System.out.printIn("Sequence complete.");

}

1
try {
Thread.sleep(Integer.MAX VALUE);
} catch (InterruptedException e1) {
el.printStackTrace();
}
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Next: O
Next: 0
Next: 5
Next: 10
Next: 15
Next: 20
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Next: 25
Next: 30
Next: 35
Next: 40
Next: 45
Next: 50
Next: 10
Next: 55
Next: 60
Next: 65
Next: 70
Next: 75
Next: 80

StartWith
TEEERITE LR\ — ISR

Observable.just(10, 20, 30).startWith(2, 3, 4)
.subscribe(new Subscriber<Integer> () {
@Override
public void onCompleted() {
System.out.printIn("Sequence complete.");

}

@Override
public void onError(Throwable e) {
System.err.printIn("Error: " + e.getMessage());

}

@Override
public void onNext(Integer value) {
System.out.printIn("Next:" + value);
}
1
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Next:2

Next:3

Next:4

Next:10

Next:20

Next:30

Sequence complete.

switchOnNext (RAEXKIERR)
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// BFR500=2# ™4 —"observable
Observable<Observable<Long> > observable = Observable
timer(0, 20, TimeUnit.MILLISECONDS)
.map(new Func1<Long, Observable<Long>>() {
@Override
public Observable<Long> call(Long aLong) {
// BiR200=M™E—HEHzE (0,10,20,30,40)
return Observable.timer(0, 2000, TimeUnit.MILLISECONDS)
.map(new Func1<Long, Long>() {
@Override
public Long call(Long aLong) {
return aLong * 10;
}
}).take(5);

}
}.take(2);

Observable.switchOnNext(observable).subscribe(new Subscriber<Long>() {
@Override
public void onCompleted() {
System.out.printIn("Sequence complete.");

}

@Override
public void onError(Throwable e) {
System.err.printIn("Error: " + e.getMessage());

}

@Override
public void onNext(Long aLong) {
System.out.printIn("Next:" + aLong);

}

1;

try {
Thread.sleep(Integer. MAX_VALUE);

} catch (InterruptedException e1) {
el.printStackTrace();

}
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Next:0

Next:0

Next:10

Next:20

Next:30

Next:40

Sequence complete.

zZip
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Observable<Integer> observable1 = Observable.just(10,20,30);
Observable<Integer> observable2 = Observable just(4, 8, 12, 16);
Observable.zip(observable1, observable2, new Func2<Integer, Integer, Integer>() {

@Override

public Integer call(Integer integer, Integer integer?2) {
return integer + integer2;

}

}).subscribe(new Subscriber<Integer>() {

@Override

public void onCompleted() {
System.out.printIn("Sequence complete.");

}

@Override
public void onError(Throwable e) {
System.err.printIn("Error: " + e.getMessage());

}

@Override
public void onNext(Integer value) {
System.out.printIn("Next:" + value);
}
1
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Next:14
Next:28
Next:42
Sequence complete.
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